Potencias de 10 (C)

Calcule los siguientes productos y cocientes.

9,817+ 10! 5,005 x 10
9,596 = 10° 5,75 x 10°

1,892 +10° 6,898 x 10°
3,196 x 10? 8,116 x 10°
5,466 x 10? 1,27 x 10°

4,203 x 1073 1,244 x 102
9,347 x 103 2,495 x 10°
7,284 10! 0,913 = 10!
1,186+ 107 2,897 x 1073
5,277 x 10° 0,651 +=10""
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Potencias de 10 (C) Respuestas

Calcule los siguientes productos y cocientes.

9,817 = 10!
0,9817
9,596+ 103
0,009596
1,892+ 10°
1,892
3,196 x 102
319,6
5,466 x 102
546,6

4,203 x 1073
0,004203

9,347 x 10°
9.347
7,284 10!
0,7284
1,186+ 107
0,01186

5,277 x 10°
5.277

5,005 x 10°
5.005
5,75 x 10°
5,75
6,898 x 10°
6.898

8,116 x 10°
8,116

1,27 x 103
1.270
1,244 x 1072
0,01244
2,495 x 10°
2.495
0,913 =10"!
9,13
2,897 x 1073
0,002897
0,651 =10"!
6,51
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